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3.07 Exponential Models
1.  Use the table of values to find the exponential model of best fit for the data.
	X
	1
	2
	3
	4
	5
	6
	7
	8
	9

	Y
	7.14
	14.99
	31.49
	66.12
	138.86
	291.6
	612.37
	1286.1
	2700.6


     
2. The World Population from 2017 through 2024 is given in the data table where x = years since 2016. 

     Let 2017 = 1 and y is in billions.

a. Find the exponential model of best fit for the data
     
b. What does this model predict the world population to be in 2028?
             

c.  Look on the Census.gov: U.S. and World Population Clock and write down today’s population.  

                             
	X
	1
	2
	3
	4
	5
	6
	7
	8

	Y
	7.65
	7.73
	7.81
	7.89
	7.95
	8.02
	8.09
	8.16


